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  Model Question - 2020 

SET – I 
SCIENCE (THEORY)        

Class X
th    

                                                
xzqi xzqi xzqi xzqi A ¼Hk¼Hk¼Hk¼HkkkkkSfrdh ,oa jlk;u½Sfrdh ,oa jlk;u½Sfrdh ,oa jlk;u½Sfrdh ,oa jlk;u½    

Group – A (Physics & Chemistry) 

 

1. i. okguks esa i'pn`’; niZ.k ds #i esa fdl niZ.k dk mi;ksx fd;k tkrk gS\ ¼mÙkj ,d ‘kCn 

;k ,d okD; ess nhft,½ 

Which mirror is used as a rear-view mirror in vehicles? (Answer in one word or in 

one sentence) 

1 

 ii. fdlh ysal dh {kerk (P) vkSj mldh Qksdl nwjh (f) esa D;k laca/k gS\ ¼mÙkj ,d ‘kCn ;k 

,d okD; ess nhft,½ 

What is the relation between power of lens (P) and its focal length (f). 

(Answer in one word or in one sentence) 

1 

 iii. vk¡[k ds jaxhu Hkkx dks D;k dgrs gSa\ ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

What is called the coloured portion of the eye? (Answer in one word or in one 

sentence) 

1 

 iv. vkos'k dk S.I. ek=d fyf[k,A ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

Write the S.I unit of charge.  (Answer in one word or in one sentence) 

1 

 v. fo|qr eksVj fdl mtkZ dks fdl mtkZ esa #ikUrfjr djrk gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; 

ess nhft,½ 

Which energy is transformed by an electric motor to which form of energy?  

(Answer in one word or in one sentence) 

1 

2. i. fuEufyf[kr vfHkfØ;k dk uke crkb,% ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

Name the following reaction: (Answer in one word or in one sentence) 

AB + CD                     AD + CB 

1 

 ii. mnklhu foy;u dk pH eku D;k gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

What is the pH value of neutral solution? (Answer in one word or in one 

sentence) 

1 

 iii. Rkk¡ck ,oa tLrs dh feJ/kkrq dk uke D;k gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

What is the name of the alloy of copper and zinc? (Answer in one word or in one 

sentence) 

1 

Time – 3 H F.M– 80 
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 iv. ,sYdhu dk lkekU; lw= D;k gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

What is the general formula of alkene?  (Answer in one word or in one sentence) 

1 

 v. ÁFke lewg esa fdrus rÙo gSa\ ¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

How many elements are there in the first group?  (Answer in one word or in one 

sentence) 

1 

3.  vory niZ.k esa curs gq, ÁfrfoEc dk ,d LoPN fdj.k vkjs[k [khafp,] tc oLrq dks /kzqo ,oa 

Qksdl dsUnz ds chp j[kk tkrk gSA 

Draw a neat ray diagram of an image formed by in concave mirror when the object 

is placed between pole and focus.  

2 

4.  yksgs dh oLrq dks ge isaV D;ksa djrs gSa\ ¼mÙkj vf/kdre 40 ‘kCnksa esa nhft,½ 

Why do we apply paint on iron articles? (Answer in maximum 40 words) 

2 

5.  fudV n`f”V nks”k fdls dgrs gSa\ bls dSls nwj fd;k tkrk gS\ ¼mÙkj vf/kdre 40 ‘kCnksa esa 
nhft,½ 
What is myopia? How can it be corrected? (Answer in maximum 40 words) 

2 

6.  /kkrq ,oa v/kkrq ds nks jklk;fud xq.kksa esa varj fyf[k,A ¼mÙkj vf/kdre 40 ‘kCnksa esa nhft,½ 

Write differences between two chemical properties of metal and non-metal. 

(Answer in maximum 40 words) 

2 

7.  O;k[;k dhft, fd xzg D;ksa ugha fVefVekrs gSa\ ¼mÙkj vf/kdre 40 ‘kCnksa esa nhft,½ 

Explain why the planets do not twinkle? (Answer in maximum 40 words) 

2 

8.  ,d gh oxZ ds rÙoksa ds jklk;fud xq.k leku D;ksa gksrs gS\ ¼mÙkj vf/kdre 40 ‘kCnksa esa 

nhft,½ 

Why do elements in a group have similar chemical properties? (Answer in 

maximum 40 words) 

2 

9.  15cm Qksdl nwjh okys vory ysal ls 30cm dh nwjh ij 4cm m¡ph ,d oLrq eq[; v{kij 

yEcor~ gSA ÁfrfcEc dh fLFkfr] ÁÑfr vkSj vkdkj Kkr dhft,A 

An object of 4cm height is placed at a distance of 30cm from a concave lens of focal 

length 15cm. Find the position, nature and height of the image. 

3 

10.  mu fo;kstu vfHkfØ;kvksa ds ,d&,d lehdj.k fyf[k, ftuesa m”ek] Ádk’k ,oa fo|qr ds 

#i esa mtkZ Ánku dh tkrh gSA ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

Write one equation each of decomposition reactions where energy is supplied in the 

form of heat, light and electricity. (Answer in maximum 40 words) 

3 

11.  vkse dk fu;e D;k gS\ vkse fdl jkf’k dk ek=d gS \ ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 3 
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What is Ohm’s Law? Ohm is the unit of which quantity ? (Answer in maximum 

50 words) 

12.  ftIle D;k gksrk gS\ bldks 373K rki ij xeZ djus ls D;k gksrk gS\ 

¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

What is gypsum? What happens when gypsum is heated to 373K? 

(Answer in maximum 50 words) 

3 

  vFkokvFkokvFkokvFkok@@@@ OR     

  fuEufyf[kr dk lkekU; uke D;k gS\ 

What are the common names of the following? 

(a) Ca (OH)2      (b) Na2 CO3.10H2O    (c) NaHCO3 

1x3=3 

13.  2kW ‘kfä vuqerkad dk ,d fo|qr ranqj fdlh ?kjsyw fo|qr ifjiFk (220v) esa Ápkfyr 

fd;k tkrk gS ftldk fo|qr /kkjk vuqerkad 5A gSA blls vki fdl ifj.kke dh vis{kk 

djrs gSa\ Li”V dhft,A ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

An electric oven of 2kW power rating is operated in a domestic electric circuit 

(220v) having a current rating of 5A. What result do you expect? Explain. 

3 

  vFkokvFkokvFkokvFkok@@@@ Or  

  ¶ysfeax dk oke gLr fu;e ,oa nf{k.k gLr fu;e dks fyf[k,A 

¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

State Flemings left hand rule and right hand rule. 

(Answer in maximum 50 words) 

3 

14.  bFksukWy ls bFksukWbd vEy esa ifjorZu dks vkWDlhdj.k vfHkfØ;k D;ksa dgrs gSa\ 

¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

Why is the conversion of ethanol to ethanoic acid called an oxidation reaction? 

(Answer in maximum 50 words) 

3 

15.  Js.khØe la;kstu fdls dgrs gSa\ ,d fo|qr ifjiFk esa rhu Áfrjks/k Øe’k% R1, R2 rFkk R3 

dks Js.khØe esa tksM+k x;k gSA fo|qr ifjiFk dk rqY; Áfrjks/k Kkr dhft,A 

¼mÙkj vf/kdre 70 ‘kCnksa esa fyf[k,½ 

5 

  vFkokvFkokvFkokvFkok  

  fn, x, fp= ds vk/kkj ij fuEu Á’uksa ds mÙkj nhft, % 1x5=5 

  (i) fp= dk mi;qä uke fyf[k,A  
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  (ii) [1] ,oa [2] ds uke fyf[k,A  

  (iii) fdl rjg dh mtkZ bl midj.k }kjk ifjofrZr dh tkrh gSA  

  (iv) bl midj.k ds nks mi;ksx fyf[k,A  

  (v) vkesZpj dks ifjHkkf"kr dhft,A  

  ¼mÙkj vf/kdre 70 'kCnksa esa nhft,½  

   

 

 

 

 

 

 

    

  What is the series combination? Three resistance R1, R2 and R3 are combined in a 

circuit in series. Find out equivalent resistance of the electric circuit. 

(Answer in maximum 70 words) 

5 

  OR  

  Answer the following questions on the basis of the given diagram. 1x5=5 

  (i) Write appropriate name of the diagram.  

  (ii) Write the names of [1] and [2].  

  (iii) Which type of energy is transformed through this apparatus?  

  (iv) Write two uses of this apparatus.  

  (v) Define Armature.  

  (Answer in maximum 70 words)  

   

 

 

 

 

 

 

 

 

16.  rk¡cs ds ,d Áeq[k v;Ld dk uke ,oa lw= fyf[k,A bl v;Ld ls rk¡ck /kkrq ds fu”dZ"k.k 

dk lehdj.k fyf[k,A bl /kkrq ds fo|qr vi?kVuh ifj”dj.k esa vki ,suksM] dSFkksM ,oa 

fo|qr vi?kV~; fdls cuk,¡xs\ 

5 
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¼mÙkj vf/kdre 70 'kCnksa esa nhft,½ 

    

  vFkokvFkokvFkokvFkok  

   fuEufyf[kr ;kSfxdksa ds lajpuk lw= fyf[k, % 1x5=5 

  (a) ,slhfVyhu   (b) QkWfeZd vEy   (c) Áksisuksu  (d) gsDlhu  (e) ÁksisukWy     

  Write the name and formula of any one important ore of copper. Write 

equation of the extraction of copper metal from this ore. In the electrolytic 

refining of copper metal what would you take as the anode, the cathode and 

the electrotype? 

(Answer in maximum 70 words) 

 

  OR  

  Write the structural formulae of the following compounds: 1x5=5 

  (a) Acetylene  (b) Formic Acid  (c) Propanone   (d) Hexene    (e) Propanol  

  xzqi xzqi xzqi xzqi B ¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½    
Group – B (Biology – World of livings and Natural Resources) 

 

17. i. olk dk ogu ‘kjhj ds vUnj fdlds ek/;e ls gksrk gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa 

nhft,½ 

Through which medium is the transportation of fat brought about?(Answer in one 

word or in one sentence) 

1 

 ii. es#jTtq vk?kkr esa fdu ladsrksa ds vkus esa O;o/kku gksxk\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa 

nhft,½ 

Which signals will get disrupted in case of spinal code injury? (Answer in one 

word or in one sentence) 

1 

 iii. tho tuu D;ksa djrs gSa\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

Why do organisms reproduce? (Answer in one word or in one sentence) 

1 

 iv. euq"; dh dksf’kdk esa xq.klw=ksa dh la[;k D;k gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

What is the number of chromosomes in the cell of human being?  (Answer in one 

word or in one sentence) 

1 

 v. ck;ks xSl ds eq[; ?kVd dk uke fyf[k,A ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

Name the main constituent of biogas. (Answer in one word or in one sentence) 

1 
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18.     fu"kspu fdls dgrs gSa\ ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

What is fertilization? (Answer in maximum 40 words) 

 

2 

19.     lkSj fLFkjkad D;k gS\ ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

What is solar constant? (Answer in maximum 40 words) 

2 

20.     vkstksu D;k gS\ ;g fdlh ifjrU= dks fdl Ádkj ÁHkkfor djrh gSA ¼vf/kdre 40 ‘kCnksa esa 

mÙkj nhft,½ 

What is Ozone? How does it affect an ecosystem? (Answer in maximum 40 

words) 

2 

21.     ge ty Á.kkyh dk laj{k.k dSls dj ldrs gSa\ ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

How can we preserve the water system? (Answer in maximum 40 words) 

2 

22.     jä vkSj yfldk esa vUrj fyf[k,\ ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

Write deference between blood and lymph? (Answer in maximum 40 words) 

2 

23.     fn;s x;s fp= dk v/;;u dhft, vkSj blij vk/kkfjr Á’uksa ds mÙkj nhft, & 

(a) ;g fp= D;k n’kkZrk gS\    (b) X  vkSj Z ds uke fyf[k, 

Study the given figure and answer the question based on it – 

(a) What does this figure demonstrate?   (b) Name X and Z 

 

 

 

 

 

 

1+2=3 

24.     ,d raf=dk dksf’kdk dk ukekafdr fp= cukb,A 

Draw a labeled diagram of a nerve cell (neuron) 

3 

25.     letkr vax dh ifjHkk”kk fyf[k,A ;g fodkl ds leFkZu esa fdl Ádkj Áek.k ÁLrqr djrk 

gS\ ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

Define homologous organ. How does it produce proof in support of evolution? 

(Answer in maximum 50 words) 

 

3 
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     vFkok@ vFkok@ vFkok@ vFkok@ OR  

     ÁÑfr esa ubZ tkfr;ksa dh mRiÙkh dSls gksrh\  ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

How do new species originate in nature? (Answer in maximum 50 words) 

 

3 

26.     euq"; ds ikpu rU= dk ukekafdr fp= cukb,A 5 

     Draw a labeled diagram of human digestive system.  

     vFkok@ vFkok@ vFkok@ vFkok@ OR  

     IySfufj;k dh ckgjh cukoV dk ukekafdr fp= cukb,A ;g fodkl ds fdl rF; dh vksj 

ladsr djrk gS\ 

5 

     Draw the diagram of the external morphology of planaria. To which evolutionary 

fact does it indicate? 

 

 


